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LAS (BE#ETNLVXARE U ANVKR UL ONEDER) OiE EME AR
7 OBRBEREUERE SR

a BOD 3l (AT © mg/L)

HRD Tl | REAESL R 28 i E 29 A B
K4 S WA = 750 | = W A ¥ 75%fiE
FEIBI(1) [ A ool 12712 = 100 .1 ]1ro] 12,12 = 100] 1.1
T (2) Al Eas B 1ol 12712 = 100 .2]13] 12712 = 100] 1.5
k) R TEH A Joe| 12,712 = 100 0.7 0.7 12,712 = 100 0.9
AN PN A Joe6] 12712 = 100/ 0.6 Jo0.7] 12 712 = 100 0.7
)T (2) =it A o7 12712 = 100 0.8 ]10] 12,712 = 100] 1.0
PRI Byt (1) [HHET 4 A los] 12712 = 100l <0.5)06[ 12,712 = 100] 0.6
IR AONEESR A Jos| 12,712 = 100]<0.5]06][| 12,712 = 100 0.6
HEJI| T Ve G A Jool 11712 = 920 09]o7] 12,712 = 100 0.8
ANEEJI(2) TS A 11| 11712 = 9 t.2]1L7] 1012 = 83 1.9
AN ] A Jogl 12712 = 100l 0.9 J1.0] 12712 = 100] 1.6
A (3) KB A o7l 12712 = 100 0.8 0.9 12,712 = 100] 1.0
ESeIlER A o7l 12 712 = 100l 0.9 1ol 12 712 = 100] 1.2
HEJILER (25 AA |05 12 712 = 100[<0.5]<0.5] 12 712 = 100] 0.5
I3 A o6l 12 712 = 100l 0.5 J0.5] 12 712 = 100]<0.5
DYNELG A Jose] 12712 = 100 0.6 J0.7] 12,712 = 100] 0.9
HEJT |G A Joe]| 12712 = 100l 0.5 Jo.8| 12 712 = 100 1.1
WEE A Jose| 12712 = 100 0.6 J0.7] 12,712 = 100] 0.8
EEE}II% A Jo7]l 1212 = 100l 0.8 Jo.8] 12 712 = 100] 0.9
Lgspl| /\ Bl A los5] 12712 = 100 0.5 Jo.5] 12,712 = 100] 0.5
WG A Jo7]l 1212 = 100l 0.8 Jo.7] 12 712 = 100] 0.5
e FEA IR B Jo7] 1111 = 100l 0.9 Jo.6| 11 /11 = 100] 0.5
SN Eye o - mmsorsesa | A Jo.7] 12 712 = 100l 0.7 Jo.7] 12 712 = 100] 0.8
SN FEE /NS A Jose] 12712 = 100 0.7 09| 10,712 = 83| 0.9
] — B |17l 1111 = 100 2.5 | 2.4 9,10 = 90| 2.8
BB R = AAJo5] 12712 = 100]<.5]05] 12,712 = 100] <0.5
FEITH EE A |<.5] 12 712 = 100l <0.5]0.6] 12,712 = 100] 0.6
JETE)| EEE AA [<0.5] 12712 = 100/ <0.5]0.5] 12,712 = 100] <0.5
H R WA A Jos| 1212 = 100l 0.5 Jo.6] 12 712 = 100] 0.6
HEII G A Jos| 12712 = 100]<0.5]0.6] 12,712 = 100] 0.5
eI A A Joe|l 1010 = 100l 0.7 Jo.7] 10 10 = 100] 0.8
Rl WG A Jose| 12712 = 100 0.7 ]0.7] 12,712 = 100] 0.8
A5 )| HE TG A 11l 12 = 9 1211|1212 = 100] 1.2
TR [ A o7l 12 712 = 100l 0.8 Jo.7] 12 712 = 100 0.7
Tl B A o5 12 712 = 100[<0.5]0.5] 12 712 = 100[<0.5
HIHER) 1 TR KAB A Jos| 12712 = 100]<0.5]<0.5] 12 712 = 100] <0.5
Rl HEAE A o7l 1111 = 100l 0.7 Jo.7] 12,712 = 100] 0.7
I i A Jos5] 1212 = 100 0.5 Jo.5] 1111 = 100] <0.5
NG NG A Jogl 1010 = 100] 1.1 ]1.1 9,11 = 82| 1.8
)1 /NG A Jo7] 11711 = 100 0.9 ]0.6 9,9 = 100] 0.6
LBl LRl A Joe6]| 12712 = 100l 0.6 J0.8] 12 712 = 100/ 1.0
ol KEEAE A Jos5] 12712 = 100]<.5]05] 12,712 = 100] <0.5
= = )14 A Jos] 11711 = 100] <0.5]<0.5] 10 /10 = 100] 0.5
FHEAI AR A Jos|] 12,12 = 100 0.5 o5 11,711 = 100]<0.5
113201 1) A A J<o0.5] 11 11 = 100l <0.5)0.5] 11 /11 = 100] <0.5
KF)I O A Jos| 12712 = 100 05 J0.5] 12712 = 100] 0.5
Bl G A Jogl 1212 = 100l 1.1 Jo.8] 10 /10 = 100] 1.0
=1 FIE A Jos5] 12712 = 100] <0.5]<0.5] 12,712 = 100] 0.5
a2l oo A o6l 10710 = 100l 0.8 Jo.6] 12 712 = 100/ 0.8
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b COD (k)

(BT @ mg/L)

B TIED | B S ¥ 28 F 5 7 £
KA il NEs] W oA E NS W oA = 75%(E
SRR (1) AL S A 2.2 2,/ 6 = 33] 2.2 2.4 2,/ 6 = 33] 2.8
5 2 A 1.7 5, 6 = 83l 2.0 2.1 4,6 = 67] 2.1
SRR (2) XX g BHAE A 1.7 6,/ 6 = 100] 1.9 2.0 3,6 = 50 2.4
TR B HL A 1.9 4,/ 6 = 67] 2.1 2.3 2,/ 6 = 33] 2.7
wod B TR A 1.6 6,/ 6 = 100] 1.7 1.7 6,/ 6 = 100] 1.7
BB i 5t A 2.2 2,/ 6 = 33 2.4 ] 2.2 2,/ 6 = 33] 2.5
=TIV PN B 3.8 2,/ 12 = 17] 4.3 4.3 0,/ 12 = ol 4.4
faf &% I R B 3.9 2/ 12 = 17) 4.2 4,3 0,/ 12 = ol 5.0
18 R A B 3.5 2,/ 12 = 17] 3.6 3.8 0/ 12 = of 4.0
EEEN A 2.0 3,/ 4 = 75| 1.9 2.2 1,/ 4 = 25| 2.4
OB RS A 1.4 4/ 4 = 100 1.4 1.9 3,/ 4 = 75| 2.0
B A 1.4 4/ 4 = 100 1.4 1.8 3,/ 4 = 75| 1.7
1L i )iy A 1.4 4,/ 4 = 100] 1.4 1.6 4/ 4 = 100] 1.6
R A 1.6 4/ 4 = 100] 1.7 1.7 4/ 4 = 100] 1.9
S 50 E A 2.9 0,/ 12 = of 2.9 3.4 1,/ 12 = 8] 3.8
75 B A 3.3 1/ 12 = 8] 3.8 3.9 0/ 12 = 0] 4.4

c AEEZNOEEE (EFE)

(223%) (HAL : mg/L)
AL 3D | BEEUES 4L G| 28 H 3 A 5
KA vl ¥ WA F N3] W A X

AL B 0. 35 = 67 0.24 5,/ 6 = 83
RRS (7)) [ il 0.21 = 83 0.22 4, 6 = 67
S 0.28 = 75 0.23 9,12 = 75
XX g B 0.18 = 100 0.14 6,/ 6 = 100
TS (1) |EREE T II 0.19 = 100 0.16 6,/ 6 = 100
SEH 0.19 = 100 0.15 | 12/ 12 = 100
VLR Hi 5 0.14 = 100 0.12 6,/ 6 = 100
woOE s | Bt II 0.21 = 83 0. 22 5,/ 6 = 83
SEH 0.18 = 92 0.17 | 11/ 12 = 92
95 AR 0.58 = 0 0.56 1,/ 6 = 17
far &% I [ i 0. 36 = 0 0. 39 2,/ 6 = 33
18 R A 0.33 = 33 0.31 5, 6 = 83
S 0. 42 = 11 0.42 8 /18 = 44
%O E 0. 24 = 83 0.21 5,/ 6 = 83
AR 5 L I 0.27 = 83 0. 25 5,/ 6 = 83
S 0.26 = 83 0.23 | 1012 = 83

(4%) (BT : mg/L)
FRGH Tided | BRETEMES A E] 28 i 5 A B
KA, i Y WA E L) WA P

NI Y 0.024 4,/ 6 = 67 0.019 6 = 100
RRS (7)) [ o [oow7] 67 6 = 100 0.018 6 = 83
SEH 0.021 | 10/ 12 = 83 0.019 12 = 83
X g B HIE 0.015 6,/ 6 = 100 0.011 6 = 100
BERRVE () | ELZEE L o Joo4] 6./ 6 = 100 0.013 6 = 100
SEH 0.0156 | 12/ 12 = 100 0.012 12 = 100
PANTR N 0.010 6,/ 6 = 100 0.010 6 = 100
woOE s | Bkt o |o.o15 6,/ 6 = 100 0.015 6 = 100
SEH 0.013] 12/ 12 = 100 0.013 12 = 100
95 AR 0. 036 1,/ 6 = 17 0. 034 6 = 67
faf &% I [ o |o.025 5,/ 6 = 83 0. 028 6 = 67
15 o 0.021 5,/ 6 = 83 0.023 6 = 83
S 0.027 | 11 / 18 = 61 0. 028 18 = 72
IRk 0.019 6,/ 6 = 100 0.016 6 = 100
Y TR o |o.027 3,/ 6 = 50 0. 024 6 = 83
SEH 0. 023 9/ 12 = 75 0. 020 12 = 92




d &g, /=72 /) =V KROLAS OKAEEMOREITFIEEEEEB) Gl

(/ﬁ-if’\) (B : mg/L)
FRGHTITD | BTN 4L o 28 4 % 29 i JE
KIA ) WA E ) WA E
s (S 0. 002 2,/ 2 = 100 0.003 2,/ 2 = 100
i)l &) | =24 B 0.003 4,4 = 100] 0.004 4,4 = 100
) B () PATRAE AmAl 0.001 12 /12 = 100 0.001 12,12 = 100
I By (2) [P A AE 2B | 0.003 2,2 = 100] 0.002 2,/ 2 = 100
AN AONIIEER AB | 0.002 2,/ 2 = 100] 0.002 2,/ 2 = 100
B FR Q) =il AB | 0.009 4,4 = 1001 0.010 4,4 = 100

ARG 0.003 2,/ 2 = 100 0.004 4,4 = 100

. | BREKEE 0. 002 2,2 = 100] 0.004 2,/ 2 = 100
AT ER B 5503 2 /2 = 100] 0.002 2 /2 = 100
SR 0. 004 4,/ 4 = 100 0.004 4,/ 4 = 100

HEJILER |20 E AT <0.001 4,/ 4 = 100] 0.001 4,/ 4 = 100
ERE 0.003 4,4 = 100] 0.002 4,/ 4 = 100

DUNEL: 0.001 2,/ 2 = 100 0.002 2,/ 2 = 100

HEJITW |G B | 0.002 2,2 = 100 0.002 2,/ 2 = 100
WERE 0. 002 4,4 = 100] 0.002 4,4 = 100

EENIES 0. 007 4,/ 4 = 100] 0.002 2 /2 = 100

() =)Vv7=x)—)) (BT @ mg/L)
FRGHTITD | BREIES4L o 28 4 3 29 i JE
KIA ) WA E ) WA E
we)l] (S B <0.00006] 2 72 = 100]<0.00006] 2 "2 = 100

&) | =24 <0.00006] 4.4 = 100]<0.00006] 4 4 = 100

) B () PATRAE A A <0.000060 4 4 = 100] 0.00008 4,/ 4 = 100
I By (2) [P A AE 2B [<0.00006] 2 2 = 100]<0.00006] 2,72 = 100
AN EEPN A8 B [<0.00006] 2 72 = 100]<0.00006] 2,72 = 100
B TR Q) = RifE AB [<0.00006] 4,4 = 100]<0.00006] 4,4 = 100
ARG <0.00006] 2 72 = 100]<0.00006] 4 4 = 100

5 N P N <0.00006] 2.2 = 100]<0.00006] 272 = 100
AT ER e KT 2 = 100[<0.00006] 2.2 = 100
SR <0.00006] 4 4 = 100]<0.00006] 4 "4 = 100

BB B |25 A 1<0.00006] 4 74 = 100]<0.00006] 4 "4 = 100
ERE <0.00006] 4 4 = 100]<0.00006] 4 "4 = 100

DUNEL: <0.00006 2 72 = 100]<0.00006] 2 72 = 100

HEINTR [ B [<0.00006] 2.2 = 100[<0.00006] 272 = 100
WEE <0.00006| 4 4 100] <0. 00006| 4 4 100

NI <0.00006f 4 74 = 100]<0.00006f 2 72 = 100

(LAS) (HfT : mg/L)
BURHTIID | gppstue iz, | B 28 4 s 29 4 s
KIA _ ) W a ) W a
] B i KB <0. 0006 2,/ 2 = 100] <0.0006 2,/2 = 100

&) | 524G 0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

LB () TS Al 0.0008 4,4 = 100] 0.0007 4,4 = 100
I Bk () [VEH G A B | <0.0006 2.,/ 2 = 100] <0.0006 2,/ 2 = 100
SN AONIEER A#B | 0.0011 2,/ 2 = 1001 0.0006 2,/ 2 = 100
B TR Q) | = RifE A B | 0.0008 4, 4 = 100] 0.0006 4,/ 4 = 100
ARG 0. 0006 2,/2 = 100] 0.0011 4,/ 4 = 100

; NSNS 0. 0007 2,2 = 100] 0.0007 2,/ 2 = 100
AHIF 3 E N B 150007 2,2 = 100 0.0007 2,2 = 100
AR HH =4 0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

HEJILEW [ ZHE A A ] <0.0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100
ER <0. 0006 4,4 = 100] <0.0006 4,/ 4 = 100

DUNEL: <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100

HEITR  [SEE A% B | <0.0006 2.,/ 2 = 100] <0.0006 2,/ 2 = 100
WRERE <0. 0006 4,4 = 100] <0.0006 4,4 = 100

NI 0. 0006 4 /4 = 100] <0.0006 [ 4 4 = 100




